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B ATREIAIEASHE 12 % N1 B ATEILETHES AL 5 %H (Eey
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i H FEEL H | & (& % B B H EEEH | B O | B E Z B
T T TR 7/ 200 g 129 — | NTRBDA ZA ) 5 ke 7, 560 1,944
LA = B 200 g 108 ol ==V — — — -
T ED & [ 200 g 108 59 | T AR — — — —
EONAED Iz B 150 g 172 162 | b i A 5 ke 6, 264 4, 860
HFh&E B A 150 g 118 — | FIvLTF x R 300 g 270 216
Lo AEL X K 160 g 129 — | Elg X K 350 g 702 594

e - — — — | WHLL & B 400 g 702 594

72N A AbiEE 10 ke 1, 296 — | TR AT 2 i 9 ke 8, 424 6, 480
A LA R 10 ke 2, 700 1,620 | T £ B 16 ke 6, 480 3, 024
< &N E BF 15 ke 1, 296 648
&y Y OB 10 ke 1, 296 648
L&A & ¥ 10 ke 1,512 756
EwH b B R 5 ke 2, 160 —
AScn = B 5 ke 2, 160 —
h=k = 4 kg 1, 944 1,512
B— =T OIR 150 g 97 —
I Lk E 1% 10 ke 2, 592 1,620
mERE It [ 20 kg 3, 024 2, 808
HE LWzt " 5 100 g 172 75
ESeY ) Ha 1 ke| 14, 040 7, 560
LDHL & B 100 g 64 32
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i E FEEM | B L | & E % fE B = FEEHM | B | & E %= fE
AFESCAHE K 1 kg 2, 160 — || | F U 1 kg 3, 888 1,080
mESCAHE — — — — | EHA YIAES 1 ke 1, 296 702
T O 1ke 864 712 | #oa TAY K 1 ke 2, 160 1, 080
HoS Ok 1 ke 2, 700 313 | A FORR I 1 ke 1, 458 —
AT T ZE 1 ke 583 108 | F VU A r JE 1 kg 4, 320 1,728
ANAA T 5 #& 1 ke 1, 080 540 | BTV~ AbiE 18 248 162
EANTF w5 1 ke 1, 836 216

&FA = % 1 kg 3, 888 216

&&= = 1 ke 2, 160 1, 080

INTE T OIE 1 ke 3, 024 324

7Y T I 1kg 1, 080 810

FoAT E & 1 kg 5, 940 2, 376




